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#include <stdio.h>
#include <stdlib.h>
#include <errno.h>
#include <sys/types.h>
#include <unistd.h>
#include <string.h>
#include <signal.h>

#define MAX 512

void rien(int sig){
    printf("%d\n",sig);
}

int main(void){

    int pfd[2],pid1,nlu,pid2;
    char s[MAX];

    if (pipe(pfd) == -1) {perror("pipe");exit(1);}

    pid1 = fork();
    if(pid1 == -1)  {perror("fork 1");exit(1);}
    else
    /************* fille 1 *************************************/
        if(pid1 == 0){
            nlu = read(pfd[0],s,sizeof(s));
            printf("1 dit ma soeur est : %d\n",pid2=atoi(s));
            if(kill(pid2,SIGUSR1)) {perror("F1 : invalid pid2");exit(1);} ;  
        }
        else{
            pid2 = fork();
            if(pid2 == -1)  {perror("fork 2");exit(1);}
            else
    /************* fille 2 *************************************/
                if(pid2 == 0){
                    signal(SIGUSR1,rien);
                    printf("je suis fille 2 avec %d pour Pid\n",getpid());
                    pause();
                    printf("soeur 1 vient de me reveiller\n");
                }
    /************* mere    *************************************/
                else{
                    sleep(1);
                    sprintf(s,"%d",pid2);
                    if(write(pfd[1],s,strlen(s)) == -1 ) {perror("write 1");exit(1);}

                    wait(0);
                    wait(0);
                }
        }
}
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